Creation Date Feb 23, 2018 End Date Mar 28, 2018 2:00:00 PM EDT

Start Date Mar 21, 2018 10:28:38 AM EDT Awarded Date Not Yet Awarded

OPN2115816B101- 01 Street Ligh	t Luminaire, 120 Volt, 25	0 Watt				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WORLD ELECTRIC SUPPLY	First Offer - \$211.00	25 / each	\$5,275.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: 325 25 s mr 120 rd Supplier Notes: Manufacturer Offered: Warranty Offered: 5 yrs Delivery Offered: 20 days				
Graybar Electric	First Offer - \$233.14	25 / each	\$5,828.50		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: MDRL25S1M12RMS31 Supplier Notes: Manufacturer Offered: GE Warranty Offered: 5 YEAR Delivery Offered: F/A				
The Tools Man, Inc.	First Offer - \$279.73	25 / each	\$6,993.25		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mai Warranty Offered: 1 Delivery Offered: 30 StreetÃ, LightÃ, Lum per specifications requi	nufacturer Offered : Year) Days inaire,Ã, 120Ã, Volt,Ã	GE	VattÃ, a	
Florida Clear Energy, LLC	First Offer - \$295.00	25 / each	\$7,375.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: MDRL25S1M12RMS31 Supplier Notes: Manufacturer Offered: General Electric Warranty Offered: 5 Year Delivery Offered: 6-8 weeks				
AUM Construction	First Offer - \$298.00	25 / each	\$7,450.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Man Warranty Offered: 5 Delivery Offered: 4-	nufacturer Offered: Years	GE		
Alberto Zaltzberg	First Offer - \$840.00	25 / each	\$21,000.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mai Warranty Offered: 2 Delivery Offered: 4 v Deco Lighting 120W 16" LED Area Type	nufacturer Offered: ? Year Warranty. weeks	Deco Lighti	ng	

OPN2115816B101- 02 Street Light Luminaire, 480 Volt, 400 Watt							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WORLD ELECTRIC SUPPLY	First Offer - \$225.00	100 / each	\$22,500.00		Υ		
Product Code: 28576	Supplier Product Code: 325 40s mr 480 r3 dg ul						
Agency Notes:		Supplier Notes: Manufacturer Offered: holophane					
		Warranty Offered: 5 yrs					

	County Co	ommissioners	Page 2	2 of 9	
		Delivery Offered: 20)days		
Graybar Electric	First Offer - \$273.55	100 / each	\$27,355.00	Υ	
Product Code: 28576 Agency Notes:					
The Tools Man, Inc.	First Offer - \$328.22	100 / each	\$32,822.00	Υ	
Product Code: 28576 Agency Notes:		Supplier Notes: Mai Warranty Offered: 1 Delivery Offered: 30	•	cations	
Florida Clear Energy, LLC	First Offer - \$345.00	100 / each	\$34,500.00	Υ	
Product Code: 28576 Agency Notes:				Electric	
AUM Construction	First Offer - \$348.00	100 / each	\$34,800.00	Y	
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Man Warranty Offered: 5 Delivery Offered: 4-	nufacturer Offered: GE Years		
Alberto Zaltzberg	First Offer - \$726.00	100 / each	\$72,600.00	Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Deco Lighting Warranty Offered: 2 Year Warranty. Delivery Offered: 4 weeks Street Light with 400 Watt High Pressure Sodium and Drop Lens			

OPN2115816B101-03 Street Light	LED Luminaire 120 Vo	lt, Option R				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WORLD ELECTRIC SUPPLY	First Offer - \$514.00	50 / each	\$25,700.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: atb260 bled e13 mvolt r3 20 Supplier Notes: Manufacturer Offered: holophane Warranty Offered: 5 yrs Delivery Offered: 20days				
Graybar Electric	First Offer - \$681.79	50 / each	\$34,089.50		Υ	
Product Code: 28576 Agency Notes:		1				
The Tools Man, Inc.	First Offer - \$782.49	50 / each	\$39,124.50		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: GEÃ, ERS2127E1X40DGRAY Supplier Notes: Manufacturer Offered: GE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS StreetÃ, LightÃ, LEDÃ, LuminaireÃ, 120Ã, Volt AS PER SPECIFICATIONS REQUIRED				
Alberto Zaltzberg	First Offer - \$820.00	50 / each	\$41,000.00		Υ	

Agency Notes:		Supplier Notes: Manufacturer Offered: Deco Lighting Warranty Offered: 2 Year Warranty. Delivery Offered: 4 weeks				
		DOOR LIGHTING				
		Designed from the bott	om up as a totally optimize	ed, cobra head-		
		,	re, the XSP Series delivers i			
			icing application performan			
		· ·	cement for outdated high-pr			
		· ·	e increased value while disp			
		•	, from 70W up to 400W. The any street/roadway applica			
		lullillalles are luear lui	ariy sireerroadway applica	dions.		
			4			
Florida Clear Energy, LLC	First Offer - \$840.00	50 / each	\$42,000.00	Υ		
Florida Clear Energy, LLC Product Code: 28576	First Offer - \$840.00		\$42,000.00 ode: ERS2127E1X40DGRAYF			
0, ,	First Offer - \$840.00	Supplier Product Co	, , ,	R .		
Product Code: 28576	First Offer - \$840.00	Supplier Product Co Supplier Notes: Mar Warranty Offered: 5	ode: ERS2127E1X40DGRAYF nufacturer Offered: Gen Year	R .		
Product Code: 28576	First Offer - \$840.00	Supplier Product Co Supplier Notes: Mar	ode: ERS2127E1X40DGRAYF nufacturer Offered: Gen Year	R .		
Product Code: 28576	First Offer - \$840.00	Supplier Product Co Supplier Notes: Mar Warranty Offered: 5	ode: ERS2127E1X40DGRAYF nufacturer Offered: Gen Year	R .		
Product Code: 28576 Agency Notes:	11	Supplier Product Co Supplier Notes: Mar Warranty Offered: 5 Delivery Offered: 6-4	ode: ERS2127E1X40DGRAYF nufacturer Offered: Gen Year 8 weeks \$43,350.00	R neral Electric		
Product Code: 28576 Agency Notes: AUM Construction	11	Supplier Product Co Supplier Notes: Mar Warranty Offered: 5 Delivery Offered: 6-8 50 / each Supplier Product Co	ode: ERS2127E1X40DGRAYF nufacturer Offered: Gen Year 8 weeks \$43,350.00	R neral Electric		
Product Code: 28576 Agency Notes: AUM Construction Product Code: 28576	11	Supplier Product Co Supplier Notes: Mar Warranty Offered: 5 Delivery Offered: 6-8 50 / each Supplier Product Co	pde: ERS2127E1X40DGRAYF nufacturer Offered: Gen Year 8 weeks \$43,350.00 pde: nufacturer Offered: GE	R neral Electric		

OPN2115816B101- 04 Street Light L					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WORLD ELECTRIC SUPPLY	First Offer - \$544.00	100 / each	\$54,400.00		Υ
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mar Warranty Offered: 5 Delivery Offered: 20	nufacturer Offered: I yrs		7 sh
Graybar Electric	First Offer - \$688.01	100 / each	\$68,801.00		Υ
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mar Warranty Offered: 5 Delivery Offered: F//	nufacturer Offered:(YEAR		
The Tools Man, Inc.	First Offer - \$789.62	100 / each	\$78,962.00		Υ
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mar Warranty Offered: 1 Delivery Offered: 30 StreetÃ, LightÃ, LEDÃ SPECIFICATIONS REQUI	nufacturer Offered: (YEAR DAYS , LuminaireÃ, 480Ã,Â	βE	R
Alberto Zaltzberg	First Offer - \$820.00	100 / each	\$82,000.00		Υ
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mar Warranty Offered: 2 Delivery Offered: 4 v DOOR LIGHTING Designed from the bott style LED street luminain efficiency without sacriff Series is an ideal replace fixtures and can provide	Year Warranty. yeeks om up as a totally optim re, the XSP Series delive icing application perform cement for outdated high	nized, cobra ers incredible nance. The n-pressure	a head- e XSP sodium

	County Co	9	Pag, from 70W up to 400W. The 2 any street/roadway applicati		
Florida Clear Energy, LLC	First Offer - \$850.00	100 / each	\$85,000.00	Y	
Product Code: 28576 Agency Notes:			ral Electric		
AUM Construction	First Offer - \$875.00	100 / each	\$87,500.00	Υ	
Product Code: 28576 Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer Offered: GE Warranty Offered: 5 Years Delivery Offered: 4-7 weeks				

O	Unit Dring	Ohre/IIImia	Total Drice	Assala	Dane	
Supplier	Unit Price	,.	Total Price	Attch.	Docs	
Graybar Electric Product Code: 28576 Agency Notes:	First Offer - \$610.06	Set 10.06 \$30,503.00 Supplier Product Code: ATB2 80BLEDE10 480 R3 Supplier Notes: Manufacturer Offered: HOLOF Warranty Offered: 5 YEAR Delivery Offered: F/A				
WORLD ELECTRIC SUPPLY	First Offer - \$615.00	50 / each	\$30,750.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: holophane Warranty Offered: 5 yrs Delivery Offered: 20days				
he Tools Man, Inc.	First Offer - \$731.99	50 / each	\$36,599.50		Υ	
Product Code: 28576 Agency Notes:		Supplier Notes: Ma Warranty Offered: Delivery Offered: 3	0 DAYS :oBahnÃ, LEDÃ, Lumin	HOLOPHAN	E	
Torida Clear Energy, LLC	First Offer - \$750.00	50 / each	\$37,500.00		Υ	
Product Code: 28576 Agency Notes:					. P7 SH	
AUM Construction	First Offer - \$775.00	50 / each	\$38,750.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product C Supplier Notes: Ma Electric Warranty Offered: 4	inufacturer Offered: 5 Years	Autobahn- <i>F</i>	Americar	
Alberto Zaltzberg	First Offer - \$850.00	50 / each	\$42,500.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product C Supplier Notes: Ma Warranty Offered: Delivery Offered: 4 DOOR LIGHTING	nufacturer Offered: 2 Year Warranty.	Deco Lightir	ng	

efficiency without sacrificing application performance. The XSP Series is an ideal replacement for outdated high-pressure sodium fixtures and can provide increased value while displacing a range of incumbent technologies, from 70W up to 400W. The XSP Series luminaires are ideal for any street/roadway applications.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Graybar Electric	First Offer - \$610.06	50 / each	\$30,503.00	7 1110111	Υ	
Product Code: 28576 Agency Notes:	That once \$610.00	Supplier Product Code: ATB2 80BLEDE10 MVOLT R4 20 NL PSH Supplier Notes: Manufacturer Offered: HOLOPHANE Warranty Offered: 5 YEAR Delivery Offered: F/A				
WORLD ELECTRIC SUPPLY	First Offer - \$615.00	50 / each	\$30,750.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: holophane Warranty Offered: 5 yrs Delivery Offered: 20dys				
The Tools Man, Inc.	First Offer - \$731.99	50 / each	\$36,599.50		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Co 80BLEDE10 Supplier Notes: Man Warranty Offered: 1° Delivery Offered: 30 Street Light AutoBahn LE SPECIFICATIONS REQUIR	ufacturer Offered: YEAR DAYS ED Luminaire 120 Volt A	HOLOPHA		
Florida Clear Energy, LLC	First Offer - \$750.00	50 / each	\$37,500.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Co SH Supplier Notes: Man Warranty Offered: 5 Delivery Offered: 6-8	ufacturer Offered: year			
AUM Construction	First Offer - \$775.00	50 / each	\$38,750.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Autobahn-Ame Electric Warranty Offered: 5 Years Delivery Offered: 4-7 Weeks				
Alberto Zaltzberg	First Offer - \$1,647.00	50 / each	\$82,350.00		Υ	
Product Code: 28576 Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Amerelle Warranty Offered: 10 years Delivery Offered: 4 weeks AmerelleÃfÂ,Ã,® Roadway Lighting, LED Lamp, 138 watt, 120 volt, 1050 mA, 13894 lumens, 100000 hr, 4000 K			tt, 120	

OPN2115816B101-07 Street Light AutoBahn LED Luminaire 480 Volt, R4							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Graybar Electric	First Offer - \$610.06	100 / each	\$61,006.00	·	Υ		

Exhibit 1 OPN2115816B1

	County Co	mmissioners	e 6 of 9			
Product Code: 28576 Agency Notes:		Supplier Product Code: ATB2 80BLEDE10 480 R4 20 NL PT Supplier Notes: Manufacturer Offered: HOLOPHANE Warranty Offered: 5 YEAR Delivery Offered: F/A				
WORLD ELECTRIC SUPPLY	First Offer - \$615.00	100 / each	\$61,500.00	Y		
Product Code: 28576 Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: holophane Warranty Offered: 5 yrs Delivery Offered: 20days				
The Tools Man, Inc.	First Offer - \$731.99	100 / each	\$73,199.00	Υ		
Product Code: 28576 Agency Notes:		Supplier Product Code: Autobahn ATB2 80BLEDE10-R4 Supplier Notes: Manufacturer Offered: HOLOPHANE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS Street Light AutoBahn LED Luminaire 480 Volt AS PER SPECIFICATIONS REQUIRED				
Florida Clear Energy, LLC	First Offer - \$750.00	100 / each	\$75,000.00	Y		
Product Code: 28576 Agency Notes:						
AUM Construction	First Offer - \$775.00	100 / each	\$77,500.00	Υ		
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Man Electric Warranty Offered: 5 Delivery Offered: 4-	nufacturer Offered: Auto SYears	bahn-American		
Alberto Zaltzberg	First Offer - \$1,647.00	100 / each	\$164,700.00	Υ		
Product Code: 28576 Agency Notes:		Supplier Product Co Supplier Notes: Mai Warranty Offered: 1 Delivery Offered: 4	nufacturer Offered : Ame 0 years	relle		

Sı	Jр	pΙ	ie	r٦	o	tal	S

f WORLD EL	LECTRIC SUPPLY	\$230,875.00 (7/7 items)
Bid Contact	Fred Skinner STEVE.PERSAUD@WORLDELECTRI Ph 239-898-8773	Address 2510 WEST COPANS ROAD POMPANO BEACH FL 33069	
Supplier Code	vC0000115578		
Agency Note	es:	Supplier Notes:	Head Attch:
f Graybar E	Electric	\$258,086.00 (7/7 items)	
j	John Hughes ohn.hughes@graybar.com Ph 954-616- 9829	Address 1225 NW 21st St Pompano Beach, FL 33069	
Agency Note	9 8:	Supplier Notes: He	ad ch:

		County Commissioners		Page 7 of 9
f The Tools	Man, Inc.	Ç	\$304,299.75 (7/7 items)
Bid Contact	Trina Gonzalez customercare@thetoolsman.com Ph 954-581-2546 Fax 954-495-9376		5500 SW 48th ST Suite B Davie, FL 33314	
Supplier Code	VC0000110443			
Qualifications	CBE DBE MBE SB SBE SBE	CBE APPLICATION		
Agency Note	s:	Supplier	r Notes:	Head Attch: 』
f Florida Cle	ar Energy, LLC		\$318,875.00 (7/7	items)
Bid Contact	Larry Thelmas Larry@FIClearEnergy.com Ph 954-552-5644 Fax 754-703-4259	Address	15800 Pines Blvd, Ste 3 Pembroke Pines, FL 330	
Supplier Code	VS0000010877			
Qualifications	CBE DBE MBE SB SBE			
Bid Notes	All fixtures are as specified.			
Agency Note	s:	Supplier All fixture	r Notes: s are as specified.	Head Attch: ∭
f AUM Cons	truction		\$328,100.00 (7/7 iter	ms)
Bid Contact	Patricia Gonzalez ho@auminc.us Ph 954-544-2656 Fax 786-558-7422	Address	6011 Rodman Street Suite 208 Hollywood, FL 33023	
Qualifications	CBE MBE SB SBE			
Agency Notes	s:	Supplier	r Notes:	Head Attch:
f Alberto Za	ltzberg	Ş	\$506,150.00 (7/7 items)
Bid Contact	Alberto Zaltzberg keylacorp@az-emarketing.com Ph 954-889-3900	Address	20355 ne 34 ct #1827 miami, FL 33180	
Qualifications	MBE SB			
Agency Note	s:	Supplier	r Notes:	Head Attch:

The Tools Man, Inc.

Bid Contact Trina Gonzalez

customercare@thetoolsman.com Ph 954-581-2546

Address 5500 SW 48th ST Suite B Davie, FL 33314

Fax 954-495-9376 Supplier Code VC0000110443

Qualifications CBE DBE MBE SB SBE SBE/CBE APPLICATION

Item #	Line Iten	n Notes	Unit Price	Qty/Unit	Attch. Doc
OPN2115816B1-01-01	Light	Supplier Product Code: GE MDRL25S1M12RMS31 Manufacturer Offered: GE Warranty Offered: 1 Year Delivery Offered: 30 Days Supplier Notes: StreetĂ Â LightĂ, Luminaire,Ă À 120Ă, Volt,Ă, 250Ă, WattĂ, as per specifications required	First Offer - \$279.73 \$265.74	25 / each \$6,993.25 \$6,643.50	γ
OPN2115816B1-01-02	Street Light Luminaire, 480 Volt, 400 Watt	Supplier Product Code: GE MDRL40S5M12RMS31 Manufacturer Offered: GE Warranty Offered: 1 year Delivery Offered: 30 days Supplier Notes: Street Light Luminaire, 480 Volt, 400 Watt as per specifications required	First Offer - \$328.22 \$311.80	100 / each \$32,822.00 \$31,180.00	Y
OPN2115816B1-01-03	Street Light LED Luminaire 120 Volt, Option R	Supplier Product Code: GEÄ,Å ERS2127E1X40DGRAY Manufacturer Offered: GE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS Supplier Notes: StreetÄ,Å LightÄ,Å LEDÄ Å LuminaireÄÅ 120Ä,Å Volt AS PER SPECIFICATIONS REQUIRED	First Offer - \$782.49 \$743.36	50/each \$39,124.50 \$37,168.00	Y
OPN2115816B1-01-04	Street Light LED Luminaire 480 Volt, Option R	Supplier Product Code: GEÄ,Å ERS2527E1X40DGRAY Manufacturer Offered: GE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS Supplier Notes: StreetÄ,Å LightÄ,Å LEDÄ Å LuminaireÄÅ 480Å,Å Volt AS PER SPECIFICATIONS REQUIRED	First Offer - \$789.62 \$750.13	100 / each \$78,962.00 \$75,013.00	Y
OPN2115816B1-01-05	Street Light AutoBahn LED Luminaire 480 Volt, R3	Supplier Product Code: AutobahnÃ, Å ATB2Ã Å 80BLEDE10 Manufacturer Offered: HOLOPHANE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS Supplier Notes: Streetà ŠLightÃ, Å AutoBahnÃ, Å LEDà ŠLuminaireÃ, 480Ã, Å Volt AS PER SPECIFICATIONS REQUIRED	First Offer - \$731.99 \$695.39	50/each \$36,599.50 \$34,769.50	Y
	Street Light AutoBahn LED Luminaire 120 Volt, R4	Supplier Product Code: Autobahn ATB2 80BLEDE10ATB2 80BLEDE10 Manufacturer Offered: HOLOPHANE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS Supplier Notes: Street Light AutoBahn LED Luminaire 120 Volt AS PER SPECIFICATIONS REQUIRED	First Offer - \$731.99 \$695.39	50 / each \$36,599.50 \$34,769.50	Y
	LED	Supplier Product Code: Autobahn ATB2 80BLEDE10-R4 Manufacturer Offered: HOLOPHANE Warranty Offered: 1 YEAR Delivery Offered: 30 DAYS Supplier Notes: Street Light AutoBahn LED Luminaire 480 Volt AS PER SPECIFICATIONS REQUIRED	First Offer - \$731.99 \$695.39	100 / each \$73,199.00 \$69,539.00	Y

\$304,299.75 Supplier Total \$289,082.50

Mcrae, Felicia

From: Luis DeGregorio <luisd@thetoolsman.com>

Sent: Wednesday, May 16, 2018 9:24 AM

To: Mcrae, Felicia **Subject:** Price reduction

Good morning Felicia, after review. The Tools Man, can offer a 5% discount on the pricing for OPN2115816B1. Across the board on all items on the contract.



Luis DeGregorio / Manager **LuisD@thetoolsman.com**

The Tools Man Industrial Supply

GSA Schedule: GS-21F-126BA CAGE: 6MMH1 DUNS#: 148485993 SBA Certified Small Disadvantaged Business, 8(a), HUBZone

Office: (954)581-2546 / Fax: (954)495-9376

www.thetoolsman.com

Click here to see our SBA Profile







This e-mail message may contain confidential or legally privileged information and is intended only for the use of the intended recipient(s). Any unauthorized disclosure, dissemination, distribution, copying or the taking of any action in reliance on the information herein is prohibited. E-mails are not secure and cannot be guaranteed to be error free as they can be intercepted, amended, or contain viruses. Anyone who communicates with us by e-mail is deemed to have accepted these risks. The Tools Man Industrial Supply Inc. is not responsible for errors or omissions in this message and denies any responsibility for any damage arising from the use of e-mail. Any opinion and other statement contained in this message and any attachment are solely those of the author and do not necessarily represent those of the company.